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1.20 LR FCL %1

3SA1012RG 25/(0.56 X0.325x0.49) =280

3S5AS1013 25/(0.615%0.305%0.74) =180 %

3SAS1004 25/(0.63X0.355%0.25) =447 58

2. LFRRANE(BE)

3SA1012RG 180 X (1+17% —9%)/(1+17% ) =166.1538 7C
38AS1013 144 X (1+17% —9%)/(1+17%)=132.9231 JC
38AS1004 55 X(1+17% -9%)/(1+17% ) =50.7692 JT

3. BB H(EE)

3SA1012RG [2000 + 280 X 2 + 100 + 150 + 600 + 18001/560 = 9.3036 JC
38AS1013 [2000 + 180X 2 + 100 + 150 + 600 + 18001/360=13.9167 JC
3SAS1004 [2000 + 447 X2+ 100 + 150 + 600 + 1800]/3576 = 1. 5503 7T
4. EWEIFERY 20 R FCL 4 2200 5, WBHEZR(BE).
38A1012RG 2200/(280<2) = 3.9286 E£iT

38AS1013 2200/(180x2) = 6.1111 ET

38AS1004 2200/(447 x8) = 0.6152 EIT

5. R #

REETR =RIUT x10% < 1%

6. BE

e =M =x3%

7.CIFC3 i (EE)

3SA1012RG:

Circs= (90 1531 8 A0I00/8 203 000 28?1 o750
3SAS1013;

CIFCS = (1321. 2263;6 +, 133%916(71) 181.02;6 ;16%1 111 _ 23 : gg;ﬂ 6. 55(E50)



